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Bootchart

Boot chart for Android ( 01/01/00 08:06:04 )

uname: Linux version 3.0.36+ (tjin@VLC-INTEL) (gcc version 4.6.x-google 20120106 (prerelease) (GCC) ) #1 SMP PREEMPT Mon Apr 28 10:10:

release: 0.0

CPU: ARMv7 Processor rev 0 (v71)

kernel options: console=ttyFIQ0 androidboot.console=ttyFIQO init=/init initrd=0x62000000,0x00130000 mtdparts=rk29xxnand:0x00002000@0x00002000{ misc),0x00004000@0x00004000(kernel),0x00008000@0x00008000(boot ), 0x00010000@0x 00010000{ recovery
time: 1:41

B CPU (user+sys) [ 1/O (wait)

= Disk throughput [ Disk utilization

W Running (%cpu) Unint.sleep (1/0) Sleeping W Zombie
5s 10s 155 20s 55 30s 33s 40s 45s 50s 555
finit [ | Wi [} I 1Tm1 I | w i
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L system/infsck msdos
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! Jsystem/infip
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Systemd readahead
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WS 5 FT W) R 4t A Interrupted system call

act.sa_handler = sig_handler;

act.sa_flags = 0;

/Il act.sa_flags |= SA_ RESTART,;
sigemptyset(&act.sa_mask);

If (-1 == sigaction(SIGUSR1, &act, &oldact)) {

do{
ret = read(STDIN_FILENO, buf, 10);
If ((ret ==-1) && (errno == EINTR))
printf("retry after eintr\n");
} while((ret == -1) && (errno == EINTR));
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int select(int nfds, fd_set *readfds, fd_set *writefds,
fd_set *excepttds, struct timeval *timeout);

selectQFF 1 select()ig [a] readJF4a()
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epoll

Epoll 5935483 43

int epoll__ctl(int epfd, intop, int fd, struct epoll_event*event);

EPOLL_CTL_ADD: yE/#rrIfdsepfd;
EPOLL_CTL_MOD: & &M rfdin)

Wy A
EPOLL_CTL_DEL: Mepfd Mz —AMd;
SREHMR

int epoll_wait(int epfd, struct epoll_event * events,
intmaxevents, int timeout);
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Glibc-AIO Kernel-AIO w/O_DIRECT

alo_read
7RI [A]

L
> int io_setup(unsigned nr_ events,
aio_ context_t *ctx_idp);

AN

int io_submit(aio_context_t ctx_id, long nr,

struct iocb **iocbpp);

. int io_ getevents(aio_context_t ctx_id, long
a10__suspen min_nr, long nr, struct io_event *events,
struct timespec *timeout);

M l@] %Jﬁiﬁ%ﬁiﬁ%ﬂ@ int io_ destroy(aio_context_t ctx_id);
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Libevent

libevent & —->Reactor:

—FheRE LA, VEMENR R, R EA KA, BRI
o

cmd event/( fd, events,
{
msgl[l1024];
ret = read(fd, msg, sizeof(msg)):;
(ret <= 0) {
perror(“read fTail ');
exit(1l);
¥
msglret]l="%0";
printf(”%ss", msg);
by
madin( argc, **kargv)
{

event ev_ _cmd;

event init(); A

event set(&ev cmd, IN FILENO,
EV _READ | EV_PER , cmd event, NULL);

event add(&ev_cmd, NULL) ;
event dispatch();

0;
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The C10K problem

[Help save the best Linux news source on the web -- subscribe to Linux Weekly News!]

It's time for web servers to handle ten thousand clients simultaneously, don't you think? After all, the we

And computers are big, too. You can buy a T000MHz machine with 2 gigabytes of RAM and an 1000Mb
clients, that's 50KHz, 100Kbytes, and 50Kbits/sec per client. It shouldn't take any more horsepower than
the network once a second for each of twenty thousand clients. (That works out to $0.08 per client, by tl
systems charge are starting to look a little heavy!) So hardware is no longer the bottleneck.

In 1999 one of the busiest ftp sites, cdrom.com, actually handled 10000 clients simultaneously through
being offered by several ISPs, who expect it to become increasingly popular with large business custom:

And the thin client model of computing appears to be coming back in style -- this time with the server ¢

With that in mind, here are a few notes on how to configure operating systems and write code to suppc
Unix-like operating systems, as that's my personal area of interest, but Windows is also covered a bit.
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Libevent:
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(Windows-IOCP, Solaris- /dev/poll,
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